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Section A: [ 30 marks }

Questions 1 to 15 carry 2 marks each. For each question, four options are given.
One of them is the correct answer. Make your choice (1, 2, 3 or 4). Shada the
corract oval (1, 2, 3 or 4) on the Optical Answer Sheat.

1.  The value of the digit 6 In 54 162 is
{t) 60
(2) 600
(3) 6000
(4) 60000

2. 31 248 roumded to the nearest hundred is ‘
{1y 31000
2 31200
(3) 31300
(4) 32000

3. 20000 + 4000 + 100 + 8 =
(1) 24180
(2) 24108
(3) 24018
(4) 20418

4, Thedight?in8.172 etands for 7
(1) ones
(2) tens
(3) tenths
(4} hundredths
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5. Which of the following decimals is the greatest?
(1) 0542
(2) 0.512
(3) 0.052
(4) 0.135

8.  How many one-thirds are there in 3 wholes?
(1) 1
(2) 8
(3) 3
W s

7.  Whatfraction of the figure is shaded?
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8. mmmmm%?
M
(2)
3

Wi hitd MIN )t

@

9.  Which of the following Is a multiple of both 4 and 87
() 12
@ 2
(3) 16
4 4

10. Write 2 2% a8 a docimal.
{1) 2.045
2) 228
I3_} 245
4y 28

1. Round 7548 to the nearast ten.
(1) 7
@ 75
(3) 78
{4) 80
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12.  What is the missing number?

8.062 , 5842 , , 5402 , 5182

(1) 5622
(2) 5.862
(3) 6.062
(4) 6662

13. In the figure, how many of the marked angles are right angles?

(11
@ 2
@ 3
(4) 4
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14,  In the figure shown, ABCD is a square. Find 2 BDE.

A

P

(1) 10
(2) 16°
(3) 45°
(4) 80°

15.  The figure shown is made up of & square 8 of side 3 cm and a rectangie R with
breadth 4 em. What is the length of ths rectangle?

%
3ocm 8
{ " Som »
4cm_ R
4
{1} 10cm
{2) 89cm
{3) 3cm
{4) 7om
End of Sectlon A
5
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a2l it

1 ol § 40 INATES |
» ns 16 to 35 camry 2 marks each., Write your answers In the space
provided. For questions which require units, give your answers In the unils

18. Write 14 012 In words. ’

Ans:

17.  What is the remainder when 3126 Is divided by 87

18,  Wrile the dacimal represented by A.
18. Find the value of 60.25 x 9.
Ans:

N weits
this ealurnn
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O ruA sl
4 s Ehis coltmn
20, Exﬁrm;imhsimpmm. —
Ans:
1 SR
21, Wﬁtﬂws—asammé rmber.
Ans:
" L.
.22,  Find the value of 1 s " ¥
Ans:
23, Aange the following numbers in order from the smaflest to the groatest.
0512 , 48 . 06086 , 0085
Ans: , ' ,
{(smallest) (greatest) '
| d
\ ..




24, XY is a straight fine,
Draw a line perpendicular to XY passing through point Z.

25.  Inthe figure, one of the fines is paraliel to BE. Which fine Is paraliel v BE?

Ang

26.  Measurs and write down the size of 2 x.
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27.  Xiao Ming is facing South. mmigesa% tum anti-clockwise.
Then he tums 270° cockwise. Where will he be facing now?

Ebrary

sehiool

MRT station

Do rekwrits
In-this colomn
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The length of a rectangle is twice its breadth.
The perimeter of the rectangle is 42 m. %gl wm
What is the breadth of the rectangle?

‘The figurs below is made up of a rectangle ABCH and a square DEFG.

Find the parimeter of the figure.
A, Bom B
-

L

Ans.___ o
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The following line graph shows the number of children at a lbrary from Dootulla
1t am. todpm.

1400 7
1200 |
1000 1
800 |
a00 |
200 -

0

4 L3 ¥

11a.m. Noon 1p.m. Zp.m. 3p.m.

31. {n which one-hour petiod did the number of chiidren increase the most?

Ans: o

32. How many fewer children were there in the library af 11 a.m. than nhoon?

AN
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The graph below shows tha time taken in a swimming competiiion.

Do nal wiite
in this cakmn

Time Taken

9 50 100 150 200 250 300 350 400
Time in seconds

33,  Who swam the slowest in the swimming compeiition?

Ans:

34. 1aman even number. 1 am a multiple of 2 and a factor of 42,
1 am not 2 or 42. | am less than 10.
What number am 17
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35. The squsre ABCD below |8 made up of two kienfical rectangles, E'f"‘*;".;.
The area of one rectangle is 50 cm? What is the length of BC? fés coknn.
A o B
D ¢
Ang; cm
8 A
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SectionG:; { 30 marks ) ‘ —. |ponat
For questions 36 to 43, show your working clearly In the space provided for each o i ok
guestion and wrile your answer In the space provided. The number of marks |
available 1s shown In the brackets [ ) at the end of each question or part
guestion.
38. There were 2750 people at a tamival.
1050 were adults and there were 300 more girls than boys.
(a) How many children were there?
(b) How many boys were thera?
Ans: () 21
Ane: (b) _ (2]
LY
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37. There wers street lamps along g footpath measuring 32 m. Mr_zim
The distance between 2 straet lamps [s 4 m. How many street lamps are
there?

Firet

Ans: [3]
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38. There were some jelly beans in a jar. onotwrlie
in 1his solumn

- 2
%oﬂh&mmm purpte.fé of them were yellow and the rest wers crange.

Thare were 312 orange jelly beans,
How many jefly beans are thare aliogether?

Ans: {4}

1 B
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39. MelFonghad *z*kg of fiour. However, she spllled % kg of flour on the floor. ?“éf::{ﬁm

She needed 3 kg of flour to bake bulter cakes.
(ay How much flour had she left?
{b) How much mors flour did Mei Fong nead?

Ans :{a) [2]

{b) (2]

40. Al bought 8 chocolate donuts ot $2.35 each. He also bought 4 sirawberry
donuts. If he paid $30 for all the donuts, how much did he pay for each

strawberry donuty?

Ans: 141

12
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) Do nol vadle
41,  Josephine had thrice as much orange juice as apple julce. b B cobma
After she poured out 1.08 /apple juics, she had 5 imes as much orange
juice. How much apple huce did Josephine have at first? .
L S— |
4

13
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42. ‘The perimeter of the rectangular piece of paper moasuring 14 cm by 8 cm Is [is K comn —
48 cm afier a small square was cut from ii.
{a} What ls the length of each side of the small square that was cut?
(b} After the small square was cut out, what is the area of the rectangular
plece of paper oft?
- F ) |_. l
-3gm ‘ f cm
Perimeter = 44 om ] Perimeler = 48 cm
: - . - ' . .
14 om * 14 cm -
Ans: (a) 21
Ans: (b) [2]

m
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Do ot wite
43. Aminah folded 50 more paper cranes than Lucy. i s colama
i Aminah gave 18 paper cranes fo Lucy, how many more paper cranes
Ans: {3)
End of Bookiet B
15
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BOOKLET B SECTION B

Q1 Q2 Q3 Q4 Qs Q6 Q7 Qs Q9 Q10
1 2 2 4 1 4 1 3 3 3
Q11 [ Q12 | Q13 | Q14 | Q15
4 1 2 2 2

Q16)

Fourteen thousand and twelve

Q17)

6

Q18)

0.47

Q19)

542.25

Q20)

W =

Q21)

w
il

Q22)

| v

Qz3)

0.085,0.512,0.609,4.8

Q24)

Answer

Q25)

Line AF

Q26)

149°

Q27)

Mall

Pgl
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Q28) | Answer

Q29) 42 +6=7
Ans: 7m

Q30) p=8+84+2+4+2+4=28
Ans: 28cm

Q31) | 2p.m. to 3p.m.

Q32) 800 — 600 = 200
Ans: 200

Q33) | Charles

Q34) | 6

Q35) total area = 50 x 2 = 100

10x10 =100
Ans: 10cm
SECTIONG

Ans: 700

Q36) | (a)no.of children = 2750 ~ 1050 = 1700
(b)1700 ~ 300 = 1400
1400 -2 =700

Q37)

Ans: 9 streetlamps

32

+~4=8
8+1=9

Q38)

OO
oin

Ans: 702 jellybeans

O b

I

3
9

+ L e

O N

O w
N=-TR4 |

( fraction of orange jelly beans

312 -4=78
78 x9 =702

Q39)

20 20 10

Pg2
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3
@ 5kg
{b) Zﬁkg
Q40) 2.35 x 8 = $18. 80 (total cost of choc)
$30.00 — $18.80 = $11.20 ( total cost of strawberry)
$11.20+ 4 = $2.80
Ans: $2.80
Q41) | 5-3=2
' 1.081 = 2u
1.08 -2 =0.54
0.54 x5=2701
Ans: 2.701
Q42) 48—-44 =4
4+2=2
areaof smallsq.—2x2=4
areaof rect —14 x 8 = 112
112 -4 =108
(a) 2cm
{b) 108cm?
Q43) 16 x2 =32
50-32=18
Ans: paper cranes.
Pg3
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